Rule 6 / Case 6 Quiz

8 responses

Publish analytics

KEYS

K, Free Kick, K-40. An untouched free kick is caught by a kicker at the K- I8 copy
47. There are no receivers anywhere near the spot of the catch.

8 responses

® R, 1/10, K-47
® K, Free kick, K-25
@ R, 110, K-32
@ Any of the above

During a legal punt, a kicker commits kick catch interference which LD Copy
causes the potential receiver to muff the kick. A receiver recovers the
kick and time for the first quarter expires during the down.

8 responses

@ The period will be extended for
an untimed down under any
circumstance

@ The period will be extended for
an untimed down only if team R
chooses to have a yardage
penalty enforced or chooses an
awarded fair catch at the spot...

@ The period cannot be extended
for an untimed down under any
circumstance




A kicker kicks off from the K-40. At the K-47, a kicker muffs the grounded I_D Copy
ball. The ball continues to the R-40, where a receiver recovers the ball and

carries it to the R-43, where he fumbles. The ball is recovered by a kicker

at the R-48, where he is downed.

8 responses

® K, 1/10, R-48
® R, 1/10, K-47

@ The covering officials throw a
flag at the K-47

@ Re-kick from the K-35
@® candd

K, 4/7, K-29. A scrimmage kick is touched by a kicker at the K-40. A I_D Copy
receiver picks up the loose ball at the K-45 and returns it to the K-33,

where he is downed. During the runback, a receiver blocks a kicker in the

back at the K-43.

8 responses

® K40
® K43
@ K45
® K-29




K, Free kick, K-40. In an onside kick attempt, kicker kicks the ball directly
into the ground. The ball immediately rebounds into the air. A receiver is
in a position to grab the ball at the R-47, but a kicker steps in front of the
receiver and recovers the ball.

8 responses

@ Fair catch interference
@ Legal play. K, 1/10, R-47
@ Neither anorb

K, 3/9, K-10. A kicker quick-kicks from the K-5. The kick is short and
muffed by a receiver at the K-25. The ball rolls into kicker’s backfield. A
kicker recovers it at the K-8 and runs to the K-15, where he is downed.

A

8 responses

® R, 1/10,K-15
® K, 1/10, K-15
@ K, 1/10, K-8
® K, 4/4,K-15
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